TiEEH :

segl . T7iRIER : %A FE T=3cm By . 1.00m?
ITHIBER ZTRA B = BB 7B Py 5T
o THE m? 1.00 720 720
EREAF T m? 1.00 150 150 870
1: 3ACRWEE m> 0.03| 3500 105
WRTE m? 1.00 250 250
SE TR(ETERER) = 1.00 5 5
m° B & &t 1230 T
TEEME :
%E . TRIER : %AFE T=6cm By : 1.00m?
ITHIBHR ZRA BI = BE N Py 5E
A TE m? 1.00 620 620
E R A F T m? 1.00 150 150 770
1 : 3R m> 0.03| 3500 105
R IE m? 1.00 250 250
B2 TR(EIRENIEFRE) = 1.00 5 5
m’° B & &t 1130 7T
TEEM :
g2 . TiRIER : A TFE T=6cm B : 1.00m?
TRIEH Bz B HE BE RIE 5
A m? 1.00 620 620
ERbEAF T m’ 1.00 150 150 770
TR m> 0.04| 1250 50
WRIE m? 1.00 150 150
SE2 TR(EERIER) = 1.00 10 10
2 m E B 3t 980 T
T=2AMH .
kgl . Ti2IER : HAFET=8cm 817 : 1.00m?
THRIEH AR B 2= BB 728 Py 5T
HaTHE m? 1.00 680 630
EREAF LT m? 1.00 150 150 830
TR m> 0.04| 1250 50
WRITE m? 1.00 150 150
EE TR(ETERER) = 1.00 10 10
5 m B B 3t: 1040 7T




TEZHE

geer . Ti2IER : %A FE T=10cm

B : 1.00m?

THRIEH mAR | B | mE2 | BB | &8 | Wi
HOTHE m? 1.00[ 1350| 1350
ERLE G FINLT m? 1.00 150 150
TR m> 0.04| 1250 50
eI m? 1.00 150 150
SEETH(ETERIER) = 1.00 10 10

m° B B 3 1710 7©

1500



